ANAND PUBLIC SCHOOL
HOLIDAYSHOMEWORK FOR CLASS -1X

ENGLISH:-

%

Revise full syllabus of final term
Beehive:-Ch-1,3,5,6,7,8
Moments:-Ch-1,2,5,6,7
Poems:-1,2,3,5,6,7
Writing:- Story writing , letter
Grammar:- Subject verb concord , modals , tenses , reported speech
Do given pages in your Exam—mate book.
Pg.no.74,75,158,159,160, 172,173,202, 203
Do practice of given letters
Editorial letters
Social networking sites have become the latest craze among school-going children. The craze
has a very bad impact on youngsters, considering its gravity , you want to express your concern
by writing a letter to the Editor of The Hindustan Times in about 120 words. You are Nitin /
Nutan of H.no. 123/8, Sant Nagar, New Delhi - 110065.

You are Rahul / Rajni, a resident, J-Block , Rajouri Garden, New Delhi. The water pipe that
supplies drinking water to your area is damaged and there has not been any water supply for two
days now. Write a letter in about 120 words , to editor of a local daily drawing the attention of
the authorities towards the difficulties of the residents and asking for immediate repair of the
pipe. Request the supply of drinking water through tankers.

CHEMISTRY:-

1.

2.
3.
4
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11.
12.
13.

14.

What is normal room temperature?

What are Volatile liquids?

Why do solid generally lack the property of diffusion?

A diver is able to cut through water in swimming pool. Which is property of matter does this
observation prove?

Why cold is not a matter but colddrink 1s?

To make a saturated solution , 36 g of Sodium chloride is dissolved in 100 g of water at 293K.
Find its concentration at this temperature.

Write three differences between physical changes and chemical changes.

Is milk a pure substance. Give reason also.

Is diamond element or compound? Write its composition.

Sample of vinegar has 40 g of acetic acid in 140 ml of water. Calculate mass by volume
percentage of the solution.

How many moles are present in 6 g of sulphuric acid?

State the law of conservation of mass.

Calculate the molecular mass of the following:-

(a) H,O (b) HCI (c) H,S

An element X has valency of 4

(a) What will be the formula of its chloride.

(b) What will be the formula of its sulphide.

(c) What will be the formula of its bromide.



15. Write the formula of:-
(a) Ammonium sulphate (b) Magnesium nitrate (c) Aluminium Bromide

16. Compare all the model of an atom in this chapter.

17. Na' has completely filled K and L Shells. Explain.

18. Define valency by taking example of Silicon and Oxygen.

19. Diffrence between isotopes and isobars with example.

20. (i) What are Canal rays?
(i1) Name subatomic particle of atom.

PHYSICS:-

1. Can an object be at rest as well as in motion at the same time?

2. Express average velocity when the velocity of a body changes at non — uniform rate and a
uniform rate.

3. Ramin his cycle goes one round a circular track of diameter 105 m in 5 minute. Calculate his
speed.

4. A bike acquires a velocity of 36 km/h in 10 seconds just after the start. It takes 20 seconds to
stop. Find the acceleration and retardation in these cases?

5. A car moves with a speed of 30 km for half an hour , 25 km for one hour and 40 km for two
hours. Calculate average spead of the car.

6. A bus accelerates uniformly from 90 km/h to 108 km/h in 5 seconds. Calculate
(1) acceleration (11) distance covered.

7. Why it is difficult to hold a school bag having strap made of thin and strong string?

8. What do you mean by buoyancy?

9. How does the force of gravitation between two objects change when distance between them is
reduced to half?

10. What happens to the force between two objects, if:-
(1) The mass of one object is doubled?
(i1) Distance between the objects is doubled and tripled?
(111) The masses of both objects are doubled?

11. What is the importance of universal law of gravitation?

12. Why does a sheet of paper fall slower than one that of crumpled into a ball?

13. Which will exert more pressure 100 kg of mass on an area of 10 m? or 50 kg of mass on an area
of4m2? (g= 10 ms?)

14. How is value of g on earth related to the mass of the earth and its radius? Derive it.

15. An object of mass 40 kg is raised to a height of 5 m above the ground. What is its potential
energy , if object 1s allowed to fall. Find its kinetic energy when it is half way down.

16. An electric heater rated 1500 W. How much energy does it use in 10 hour?

17. What will be the velocity of particle of mass 5 kg having Kinetic energy of 250 j

18. Why are the ceilings of concert halls curved?

19. What is reverberation? How can it be reduced?

20. How is it that bats are able to fly at night without colliding with other objects?

BIOLOGY:-

1. Explain structure and functions of Nucleus.

2. What are vacuoles? Write down its functions.

3. Diff. of diagram of Plant and Animal Cell.



15.
16.
17.

What are genes? What are its functions.

Diff Cell wall and Plasma cell.

Difference between Parenchyma , Collenchyma and sclerenchyma.
Diff. between Tendon and ligament.

Diff. between muscles Cell. (three types)

Draw diagram of Neuren.

Constituents of Xylem and Phloem.

. Functions of Xylem and Phloem.
. Rabi and Kharif crops with example.
. Explain different factors of Variety improvement.

Explain different cropping pattern with examples.
Methods of weed control.

Benefits of cattle farming.

Explain about genetic manipulation.

SOCIAL STUDIES:-

*

Learn full syllabus of Final Term. Solve this assignment

One Mark Questions:
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9.

10.
I1.
12.
13.
14.
15.
16.
17.
18.
19.
20.

When did PMGY launched?

What is Calories in the Urban area?

What is buffer Stock?

Name two houses of Parliament.

When does a bill become a low?

Seasonal hunger is commonly found in:

(a) Urban areas (b) Rural areas (c) Tribal areas (d) All the above
For how many days MGNREGA provide employment?

Which house is known as the lower chamber and the upper chamber?
What is the other name of Mandal Commission?

What % of govt. jobs are reserved for SEBC?

Who appoints cheif Justice of the Supreme Court?

What is trafficking?

What is Begar?

When was Agenda 21 passed?

Black soil is also called soil.

Full form of UNCED.

“There is enough for everybody’s need and not for anybody’s greed”. Who said this statement?
When did Rowlett Act passed?

What is the idea behind satyagraha movement?

What is soil erosion?

Two Marks Questions:

Nk =

What do you understand by human poverty?

Who are the poorest of the poor?

What is Public distribution System (PDS)?

What is Parliament?

What is ‘No Confidence Motion’?

Mention any two limitations of freedom of speech and expression?
Mention any two expectations to the right to equality.



8.  Whatis ‘Aglenda21’?

9.  Why land is called important resources?

10. Who wrote ‘Hind Swara;j” and what was the theme of it?

Three marks questions:

Explain ‘MGNREGA’.

‘Poverty is a curse upon humamity’. Explain.

What is food Security? Explain the major dimensions of food security.

“A section of people in India are still without food”. Explain

Explain the Compositions of the Council of Ministers

The Lok Sabha is more powerful than the Rajya Sabha. Explain by giving three reasons.
Why was mandal commission set up? What did it recomment to the government?
Rights are necessary for the sustenance of a democracy. Explain.

What are the three stages of resources planning?

10 Explain the causes of the clashes between Dr. B.R. Ambedkar and Mahatma Gandhi.
Five Marks Questions:

Explain the main reasons of civil disobience movement?

Explain the measures that must be taken for soil conservation?

O %N AW

‘The Right to freedom is actually a cluster of several rights’. Discuss.
What are the chief characteristics of the fundamental rights?
Compare both the houses of Parliament. (5 Points).
Explain the major powers and functions of the Parliament.
Analyse the impact of Green Revolutions.
Describe Global poverty trends.
Explain the impact of first world war in India. How had the first world war created a new
economic situation in India? Explain.
Explain:- (a) Alluvial Soil (b) Black soil (c) Arid Soil
(d) Laterite Soil (e) Red and yellow Soil
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*  Map Work
Do all the maps.
- Nationalism in India. (History)
- Climate (Geo)
- Drainage (Geo)
Question Based on Assertion Reason:
1. Ass - Food grains are sold at a very high price during Natural Calamities
Rea - Due to shortage , the price go up.
2. Ass - Cooperative are playing an important role in food security in India.
Rea - These societies have set up shops to sell low priced goods to poor.
3. Ass- MGNREGA was launched in 2005.
Rea - It was launched to provide free and compulsory education to all.
4. Ass - Rights are necessary for the very sustenance of a democracy.
Rea - Democracy is a form of government in which the rulers are elected by the people.
5. Ass - India is secular Country.
Rea - Right to Freedom of Religion allows Indians to profess, practice and propayate any
religion.
6. Ass - The world is divided into a number of climate region.
Rea - The climate of India is described as the “Monsoon Type”.



7. Ass - The peninsular rivers are seasonal.

Rea - Their flow is dependent on rain fall.
8. Ass - Karl Marx was a Communist.

Rea - He believed that Communist society was the natural society.
MATHS:-
* Do the following sums. ( In fair notebook )
1. Find the surface area of a sphere of radius 7 cm.
2. Find the C. S. area and total S. area of hemisphere of r 21 cm.
3. The height and slant height of a cone is 21 ¢cm and 28 cm. Find volume of cone.
4. Find the volume of a sphere of radius 11.2 cm.
5. A Shot putt is a metallic sphere of r 4.9 cm. If density of metal is 7.8 g per cm®. Find mass of

the shot putt.
6. A hemisphere bowl has a radius of 3.5 cm. What would be the volume of water it would

contain?
7. Factorise: x* —23x? + 142x — 120
8. Factorise: y* — 5y + 6
9. Factorise: 6x>+ 17x + 5
10. Find ‘k’ifx—1is a factor of 4x* + 3x* —4x + k
I1. In fig POQ is a line, Ray OR is perpendlcular to line PQ, OS is another ray lying between rays

OP & OR, prove that ZROS = (4QOS ZPOS) %S

P 0] Q
12. Infig. PQ || RS, ZMX0 =135, /MYR = 40° find /xpry
P X Q
135
M
R 40° g QA
Y

13. Inan Isoscele A4BC, with AB=AC, D & E are points

on BC such that BE = CD. Show that AD = AE

B D E C

14. P is a point equidistant from lines | and m intersecting at 'A'. Show that AP bisects angle

between them. {

™~
_{/ \CP&: A

15. ABCD is a cyclic quad. AC & BD are diagonals. o

Note:- Revise full Ch. of Probabiability and stat of Class X.
L.T:-

*

/DBC =55, /BAC =45° Find /BCD

Revise Full Syllabus for Exam Ch. 4, 5, 8, 9, 10
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eIl <9l sff —2024-25
fraifa g : 3 52 quiish : 80
g fde —
e WUFHH AR WS ® - @s ‘&', ‘@', ‘' ik ‘w’
o JYYT ARl TSI & Y & Iar HAN: fafen)

Ge-& (rufsd 9iy) (14 3i®)

1. frafafeq TgEe @t e FRAUTER I8 1T 9 i & 3o fafen : (1%3+2%2=7)
BrTeEen H o= it ¢ TaR Tl ¥ | e g 9 SHE vl § | WS o S e SieF o €, S A @ sa
IHT B B, 7 A FaTar | St Heit H S R el ST ST S, S S Sl 9T At $eAt SR faw
Bl , T IR el 2 HE TYRAT 31R HE SR St 8, he STIR forvard B § 2 559 § hY-hH ST
Fered €1 IdHM S8 STHeH fE@ Te ® iR wfee & deier § Ft et sweaad 51 5 Tl T
fepert STest oI erTat § SR feramt STet ART-FT B &1 “ERarst ot figsran’'— 39 Sfea § ggg i
ot T SereT-qeret =1 W o g3 ® | fong 19 WehR o Y it el Thel & sTetsh i s 9
Tg, T IR T Bt ¥, SE TohR AR gamaeen & st snearereen & s @ &3 ol | fu= g €1
T § fo o =medt U Sga- A s % oTeel i e 5 H hed B | T 9 hfeud STeel 9
THRT 1 SiTa o Sigtel | =erdn Tei | Ster S | 91 37 9t sl § s w9 et =t | e
el SH el hed, Toreeh Tl ot | B8 W9 R, TR RTEE &1 TE 7 9 T, FTEd o1 sie-sie %M
@ 79 FehTerd ST, R ofieR & e &1 TN R @ | i T - yesie & 9EE g e e W

B QU foreams T 9 |
wgfasedta uvd
(i) SreamaEen sl farar st gt 8 2
() T I AFE A aTedt (7) HERAT SR ST | ol
(@) T B A A (%) 3w @it
(i) Faraeen & fad ®A TR =few ?
(%) 3 (1) TR
(@) v (71) Iuge |l

(i) HAA (A) 9 FROT (R) Hl Iga faa faswey gaax fafau -
T (A) : 73 Shaa-gme § 99 37 96 =9 9 Y53l & THH g A1et e W g|
favama & T |
&R (R) : o5 Foer 3@ 716l wed f9es o7 6t < 58 99 W, R FSred 59 S 7 W 9,
S8 &1 T BIZ-BI M a1 Fehe S, T i & «fia’ gom ¥ |
() T (R) HeH (A) Ft Fel S 76l Ll B
(@) RO (R) e (A) i & A Hl 7 |
(1) e (A) T HROT (R) IHT TTerd & |
(1) e[ (A) T & g roT (R) TTorad |
TS Td JAfderecalicsh
(iv) Staq Sum d w9 37 amat fig %8 91 =ifew ?
(v) e fafae — s, guet |
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2. Fr=fafeaa e @t tga FRITuR I8 T 3 i & sor fafe : (1x3+2x2=7)
TR H AT AT FA 5991 T8 o YUl FHS § 1ot feafd s o fag e ®9 9 S
T2 © | WIaieh Site § Te-%al o1 Tsh ShR0T GRER § SFekd eil, | 3 8 % ®9 | T &l 918
frarf % 1 fafer it 30 e 1 A =Rl €1 STURTHA THHTH 3R ¥R % a1 < a1l Teh § el St
F AHfEsh qrEt 31K g, T o RO S o & FSTE A d A A B ke e ATt € SR A et
T & 90 W @ T 1SN foers-geen & v # A gu o W ST T A o STIRe =
TS °fq &% W T 1 Teie TR HaH & Ty Seeie ¥ | 9% IR H e S 92 39 & qa |
TE T | S-SR & Helel H FHeT 9 IHh A H siqgeed wi feufd a1 T wdt | S e
Hferce e e €1 o 36t Sfem #i erafy § gegrSe widt & R H S At €1 A % T
Tiafia Ted 3iR I T T60 RaT TSR & JA91E % FHROT A Th SRR 6 H I |

wgfasedta uvd
() R qure o fRaent e ® 2
(%) St (31) AT-faan
(@) Tou (&) g
(i) e TRt feafey gedsiter @ 2
(%) sl @l dred & fau (1) AU TS IgEH o forg
(@) &9 I FFHM & fau (9) 9%=hR ¥ sieM & fau

(i) HFF (A) T HRT (R) i IR 3faa faswey e fafay -
U (A) : T H AR Tl I LA 5951 T80 o T U1 T H A9 Feorfa a9
fore ool &9 9 S g €
FHRT (R) : 3T S-SR % ot sl Fea1 319 T & 7MY H siadaga ot feafa Ir &
I | Tt A ST AT YT o o § | 9% g6t Sfted @i srafy # o7t vt o
R S = B
() T (A) T&l & fhg FROT (R) Ter@ &1 (1) e (A) 991 SROT (R) SH1 TTerd |
(@) FUF (A) T ¢ forg RO (R) T &1 (1) T (A) 921 FROT (R) I 9t €
[N GRUC R C IS [N G RUE D
(iv) - FHeur TR & faari d siagd<a 3= &l Hdl ?
(v) Gt Sig =t feafa = F=4 drsr amedt @2
e - @ (AEslich SATHI) (16 3ih)
3. frafafaa 9= g3 9 | <1 & 3 fafan - (1x2=2)
() ooif & arefeh Aol hl hed © ?
(i) =y fra@ ST ® ?
(iii) ¥Te% 3R 9% # TH @ L qaRy |
4. Trfafea 99 o 9 <1 UKl B ATER AATT STTATTEE I TART HifTT— (1x2=2)
YT, Tehed, T
5. fre=fafed gi= yebi § @ fogl 9R % S fafay — (1x4-4)
() ST SeH K FARY : 7T, T
(i) Frafafed o | 35 s9EY @ 37, 39, 39A
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6. Tr=fafaa 9r 9wl & @ fo=l a9 & SR fafag — (1x3=3)
() dfa sifse : 7q + AfeeR, To7 + g
() Gt fa=3g Hifs : anfiwcaa, amtan
7. Frefafea i gei 9 @ ol Q@ & sar fafe) (1%x2=2)
3faa fer fagq @msT -
(i) G A T A TH T G 3 H T TSRS S
(i) 3T AT YU Tge 1R I9 S TR &
(iii) ‘<fre =o' | S o1 fae e R
8. fr=ifafed ar g 4 @ f=dl i & SR fafau) (1x3=3)
319 & MUR W I ol Y89 W 9 fafen :
() 0 T Tl ©
(@) R Tk Tel et ©
(1) T &R T el €
(71) Al J&aeh Bt Al &R 9el
GE - 7 (ISATK® Td YTeh Y13 T&Ieh)  (11+11+8=30 3ih)

T S
9. frfafea Taie I gt I8 T gvl % GEt fawey siew fafew — (5)
RAT GER(A | TH WM & T80 TG W@ 3 TIH HRAT I8 sl FHIM 007 @ |
ST HTagfe & o1% ot S 370 3707 YRS 8T 3 18] Bl | 3 e’k et 9 3R #fgq
Y T TR T 9 | 979 3 6o YRR W i TRherd T A1 el S STeehiea X T T
<9 TR | g | STenfSta el # e Sein IR T 9 SR foR O e TSt 2 Ufier § 3 el
TR T 7 5191 STeREA T TH THIE il JE3H L TH STEATGd T | his e 781 Biel, T TH T
STHIET h TS o JEH i § T 41 ?
1. THA R SO IRAH 959 6 9 SR @i ?
() TARTIGATS k! et (1) ek forem sre
(@) 3feqor YRAE 98Tl ol 781 Il (1) et e o
2. e | WA 3 T YRiRia fea ?

(%) TThIEA T T THE (1) sTeehise 1 faren # =R
(@) ATHTA Tl TAR (F1) IR TSI 1 TR
3. 39 AN Q@ A % 9R | 1 9T Ferar § 2
() IR F&Hia & gon (7T) YR HEpia ot 3ueT
(@) YRA™ 955 9 e (%) @@ &t gfa &1 TE
4. THA R P GBI o 99 o ?
(%) 9TeETd HERIA (3T) YIRA G&Rid
(@) smyfe Gepfa (%) faseh wwpid
5. A % @H-YH % 9R | sqEl
(%) o HiERR & (1) foReh oM @ &

(@) o FeRRT o (%) 3 YR IMRRRT 9 IR AfT & fadeh &
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10. frifafed ar gl =t dgat fonel i T9AT & 1T 25 9 30 I3l # Sk ST (2x3=6)
() ST TR AT B fHA-ToR T o1 AR T e 2 T ey |
(i) “erfafey wa Jear Tl B, o T IR S i # Tare of B Heha ¥ 1" ST T hid
T ST T o119 39 91 9§ el 7o JeHd § ?
(i) o= o B % foru T 6 AR R YRR S |
(i) 3@ 1 SATHR FHT TIR THIS § TR AR ht THfaeh o e feafa SR it §, T wl |
HA G (11 3ih)
11. Fr=fafea s # TgH 18 T 9wl I T fawey siea fafae — (5)
TR T fate & afet
el srEdt W R,
et T X o1 &l
Il ¥ $S Fedl St |
e R T [ Gi=dl,
“3d R AR gt fagm,
39 YAgR & 9T I
F oft 51 & i gAEn”
M- 9% @ e,
el b TSl e W R |
T4, 37, B R B ?
(1) 39 faar & Warar 0 &1 T § 2

() 3T HAA (1) T e T
(@) @™ (%) =
(2) =<t 319 T Totehl hidl 8—
(%) R yaifed s (1) TeTE @ S
(@) A7 9 == o (1) I § ST AN
(3) A *I T_T A @ Fife—

() =% <) i e Fared a1 & Fehdl
(@) 39 A 3 o F Fle KU
wia =) gfaen §—

(%) Ma gRT?

(@) - e7iid i gR T ?

< o 41 It R ?

(%) IR ! GAH & feg

(@) 71 & B M & forg

(4)

(5)

1. Fr=fafea gt &t ygat fH= J I3 & 1T 60 IR1 H I Sifse—

(1) ST 7 I e i VR TE
(1) TIR 7 SHHT STa QOISR A

(1) - i I G TR € ?
(%) STiid R T ?

(7T) T =l gkl A o foe

(%) TETE T GAW o fag
[3x2=6]

(i) TR e 3T ST TTHT i TehTcHhdT fohe-fhe &7 H Tehe 8 © 2

(i) Tt P WA T, STd F el BT | FS ST off BT § 41 2 T FHifSQ |
(i) ‘A HA', ‘I, ‘U9’ S TN S-SR ek Shid F1 el =edl § 2
(iv) =@ A Y I =S IR W A ThR bl TR ?
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W (& G971 (8 3®)
13. frafafea 9 aet &l Tgat fal 3t U9l & 1T 50 9 60 AT H I fSIE- (4x2=8)
(i) <faen = fireey  forg afenfiant wsx oty fo RO & foran & 2
(i) FUH S Faefoai 1 frerrem Geieh Arefae avi 1 o1 vsai # fafe |
(ili) T 7 R Tt G Bl AR B @R @k TR Afa G e e § 1 e st
veai B gATRT 9 GAR hI YT 1 A0 RIS |
e ¥ (TEAHS AEH) (20 3ih)
14. XU 7@ dFha-fogsil & SR W T 120 Ikl § T =81 fafau— 6
(%) it TS iR wRa
® St 20 FAT R ? @ TS T HRUT @ HESCH 3T 9N i Jfgeht
(@) HA-2A Tohehe &1 AW
o T &l 3T el @ AT H1 TEG @ Teh hi eeRa
(1) M F9H & B
® 3T FEYA ok Wl ht T @ TAHAN THA H IR HHI
o i 9 =€ Tt Wer i 3991 BT
15. 319t 37 Sit sl Tar it & w@eed urR & SR | T 100 K1 | T 9o fafani 6
16. 5@ U fo=1 &t JEH 9P 71 F 1 faar o W T 2 31 faavor enrem 100 9=l o
ST | g A IdAE el | @ | faard o 9ol T w9 @ fa @ @ degy g
i | 5

\/

i

17. 0T 99 819 W 9 YR S & Gy | ) i & S $ Sasia w100 k)
¥ fafew)
SEL)

R Afafer & WA R 9E 3R 981 & o9 4% & 7Eq 811 d1el Gd1g 9T 100
I ¥ fafau)
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